©Y gL E
= 55 ¢
g & :
BE BE
6% 63 (2000 men) 4075 (1400 men) |
2.4 Supplied Parts for Concrete Mould Ir ti /
£0.% 2400 mem) upplied Parts for Concrete Mould Installation 7
pos. # Description Part Number | Quantity Received
ay 18§ T
26 Transport packing 1
25  [|Papertape, width: 40 or 50 mm 1 Lo i %
24 Wooden plate with hole D12mm 45005-173 1 % = % S %
: g 2 = E 3
< ram sne lCONCTete mould installation tool with bolt AT = vs =
21/ 22/23 M8x60mm and nut M8 45005-064 L
_ asnn | TWO components compound for center pin set
173 (500 f 0 . ,
# (00 mm) 19+20 of 100 gr. + 7 gr., with instruction 1
Instruction: see attachment 1 1
* 1
231 (1000 mm) 18 |Installation Instruction concrete mould: This document 1 v .
including installation drawing: 45005-164 1 .NUCletron CDrpOI'atIGﬂ
i7 Ring, Ms, toothed, D64 mm 1 i
5 - NUCLETRON RETAINS EXCLUSIVE COPYRIGHT
15 + 16 Yellow/green ground wire 2,5 mm?, with 2 eye 3Im TOE thD Q%Z%ngom F%%ﬁ%gﬁ ggg@g, ;gu_
T fsstito corppui e 7E Do
-6 (2000 mm) .0 (1000 mm) 14 |Bolt M6x10 mm, ail thread ! DOCUMENTATION WILL NOT BE MODIFIED,
» (1000 mm) 13 Small bracket 45005-171 8 DUPLICATED, OR RESOLD TO THIRD PARTY
=g bracke VENDORS, INPART OR ENTIRETY, WITHOUT
) ) EXPRESS PERMISSION OF NUCLETRON.
i 16 x in detail C
12 Washer, M6, D18 mm, thick 1,6 mm o 30 . -
14 x In detail A :
, < 4 | )
11 |Bolt M6x20 mm, counter sunk 8 NUCLETRON CORPORATION
v , , 8671 ROBERT FULTON DRIVE PROJECT
10 Nut M6, see also pos. 6 40 (+8) COLUMBIA, MD 21046-2133 NORTH
8 Bolt M6x80 mm, all thread 8 , ,
- TELEPHONE: (800) 336-2249
8 |8 mmSpread anchor M6, 8 FAX: (410) 3124196 2
- \ ~ y :
Project Nome ond Location B ‘q =
6 Nut M6, see also pos.10 8 (+40)
. e Aain ical
5 Washer, M6, D12 mm, thick 1,6 mm 16 Maine Modical Gontor
4 |Bokt M6x25 mm 8 Portland, ME
3 |centerpin D12:80 mm 1
floor plt - ses Section 2.10 ‘ \. J/
of Simulix Sie Preparation 2 Concrete mould plece 45005-168 3 '
Manual (112.903ENG-01) — —
1 Concrete mould piece with sguare hole 45005-167 1
=
=
|_
O
-
o
|_
W
= O
o .
© o
o O
- |2
soe dotal B E =) <
z |5
mmmmmmmmmmmmmmmmmmmm o =
%fﬁ%ﬂ::m:ﬁ: mmmm 5 g
- o @ \NO. REVISION/ISSUE | DATE/ o "
< ' ' A o o
g e . ﬁmm = \ o
4 - QA . -9 Pedrosa lc—> i
o . . . = 3
Checked By %
= 2 Y
Date a 5 %
Notes:
/ 1) Nucletron will install and level center pin, concrete mould and gantry support frame. f/FROIECT NUMBER NUC2009-CP05 \ 2.
pit hole depth . . . . . . . ; HE
minkmum 85 mm 2y During the rail/gantry base instaliation, Contractor will provide personnel for the § o
: lacernent of concrete: QUOTATION NUMBER
meximum 100 mn P ‘ A09030401R |
a. Inthe bottom of the pit:
N DA N
@) i use a Stiff mixture for the bottom of the pit. This will aid in stopping the TN 4 or22/00 S g
concrete from pushing up inside the ring; & : J > B:,L_;
’ QQ@ ii. inside the ring the concrete is leveled from the bottom of the ring; f/CUSTOVER APPROVAL N\ (.;-) g i?
%/%”/ / ? / iii. use the concrete mould installation tool to leve! the concrete from the i § 7
‘ /},{3 ?j// / % center point to the bottom of the ring; NUCLETRON APAROVAL é %
o o E | L w iv. proper level of the bottom of the pit is reached when the top plate of the a. !
< . M o installation tool rides on the concrete mould and the tools is spirit level. o
4. 4 . ‘ b. Outside the concrete mould ring: \ y
g A i. Outside the ring the concrete is leveled from the upper side of the concrete — "B
~ 7 \ mould ring to the level of the adjacent floor f Froiect e Sheet N GRAPHIC SCALE:
‘g 3) Al rail and gantry components are supplied by Nudetron; concrete supplied by Owner. N - 4 0| " |1 “
43 Minirrum sub-fioor thickness is recommended only; structural engineers are responsible ot 10/28/00 ‘ SOALE:
for floor design in support of stress points -
e . Lot g . fSimulator Rall Instaliation PROJECT MANAGER: DNV
Detafl A Detail B Detail C Detail D 5Y Provide a minirum soil bearing value of 2,500 PSF Socle A=10" 40f8 ) JC/DRAWN BY:
6) Concrete to be 3,000 PST minimum \\ A OF RECORD: o
73} Pour nurrber two 1o have /8" maximum aggregate size Eszﬂ No: 0205; ?(2)
' PROJECT: NUC2009-CP0O5 SHEE'T T —
SIMULATOR RAIL
INSTALLATION
SHEET No.
(© COPYRIGHT 2008 SMRT INC. |
2 4 5 6 i 9 11 12 13 14 15 16




